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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (a) Whatis irrigation? What are the necessity and scope of irrigation in India?
(b) List the methods of application of irrigation water to crop? Explain any three
methods in detail?
Q.2 (a) (i) Describe with the help of a diagram various forms of soil moisture?
(ii)write short notes on field capacity and wilting point.
(b) Explain the terms ‘duty ¢ and ‘delta’. Derive relationship between them. List
factors which affect the duty.
OR
(b) An irrigation canal has gross commanded area of 60,000 hectares out of which
80 % is culturable irrigable. The intensity of irrigation for Kharif Season is
65% and for Ravi season 35%. Find the discharge required at the head of
canal if the duty at its head is 1800 hectares / cumec for Kharif season and
1000 hectares/ cumec for Rabi season. Take peak demand 25%.
Q.3 (a) What do you understand by Gravity dam? Explain various forces that act on a
gravity dam.
(b) What is the importance and function of galleries and shafts provided in the
gravity dam?
OR
Q.3 (a) Draw the skectch of conventional earth dam section with components and
write thier functions.
(b) Discuss in brief the causes of failure of earth dams.
Q.4 (a) What is the recuperation test? Write equations used in recuperation test.
(b) Which are the factors on which the selection of the site of a reservoir
depends?
OR
Q.4 (a) Write short notes on (i) types of well,(ii) types of aquifer, (iii) specific
capacity of well
(b) Give classification of canal based on network in detail.
Q.5 (a) (i) Explain hydrologic cycle with sketch.
(i1) What is precipitation? Describe various types of precipitation.
(b) What is runoff? Which factors affect the runoff?
OR
Q.5 (a) Differentiate between (i) Weir and Barrage, (ii) Silt excluder and silt ejector.
(b) Explain Lacey’s regime theory in detail.
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